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[D]

¥ - II (PART - I1)

) [ LANGUAGES (HINDI & ENGLISH) ]
= (HINDT)

T A B Gt 33 3 fe @wd o Aeer g

3l.

TR 9% 1 T8 Gfy-fde

[1] 9 + SR
2] Y + AR
[3] |1Y + H=Ror
(4] |Y + AR

TS o= & He-d 6 ? 7

[} € @R 4y

[2] 1 &1 Eiy
[3] 39 @& €Y
[4]a|5ma;fér

35.

Rmar @& g% garEt 2

36. 9= P gftc § -1 9 7o © !

1] & - g9l
2] "9 - ot
(3] A4 - ARE
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[D]

&gwﬁﬁﬁﬂmﬁﬁﬂﬁﬂﬁﬂ
2

[} T8 q=t &
[2] 39T g} &
(3] 99T U=t H
(4] 39gF a+ft 1= &
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[13] [D]
pfrecdon : Answer the fﬁﬂumﬂ GﬁGﬂ (ENGLISH)
W] g Lquestmn,g by se}ecung the most appropriate option

blank ;

I'shall do it .
[1] in
[2] with
[3] about

[4] over

Select the correct tense form from the
options given :

When 1 first (come) to this house, it
(be) a very quiet area :
[1] comes, is

[3] coming, is

[2] came, was
[4] come, are

Select the correct tense form from the
optlons given :

'Peter ( y) to come in quietly but his

m@”’_.‘.._ gr @ar) h1m

| 50. Change the voice and select the

correct option :
Somebody has put out the light.

[1] The light has put out by
somebody

[2] The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

Select the appropriate one word
substitution for the following :

Former students of a school or college
[1] Emblem

[2] Alumni

[3] Expert

[4] Incharge

Choose the part of sentence that has

CIIor . -

she does not/ resemble to / either of/
A 5 S C
i her parents
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[D] $hit. Select the appropriate preposition fy,
54. (Choose the correct synonym of : A ‘he blank :
TN He has not yet recovered .......... his
[1] Happy . illness.
[2] Cheerful 1] over
[3] Talented | 2] in
4] Comfort - [3] at
' | 4] from
35. Select the correct meaning of the 4]
underlined phrasal verb : | 59. Change the Narration :
Who can say what will turn up next ? "I'm taking the children to the
[1] remember | 700 tomorrow." She said.
[2] divide | [1] She told that she would be
[3] end . taking the children to the zoo the
day after
[4] happen |

|2] She said that she will take the

56. Choose the option that brings out the | children to the zoo the next day

meaning of the underline idiom : [3] She told that she will be taking
| the children to the zoo

A _lion's share of India's annual
budget is f_'or defence. | [4] She will take the children to the

[1] major share 00, she said

[2] minor amount ’ 60. Change the narration to Reported
| - Speech. Choose the right option :

"Who - has ‘been using my
~ typewriter ?" Said Mother.

j : ather asked who has been
. gair :;_.' ng her typewriter -
2] er said who was usmg her

.' e
-~ ”ﬂ'ﬂi"‘{ .:L;;ﬁ.f‘i .-f;_‘,f’

r‘# !: -..'d:?.. e rriml

Scanned by TapScanner



[D]

61 fi‘-p:[ ﬂ'ﬁ' - - Hemﬂg the most apprnpriate option
El'afl‘fffg : S 61. Find the next term in the following
e 20 V4 e letter series :
AT ISR, OLR, /P
SRt . LXF, MTJ, NPN, OLR,
[LL PHV
[LHEPHY
[2] PIU »
2] PIU
3 BY
3} S 3] PIW
4] PKX 4] PKX
62. 3% A, B % 40 HeX Ror-afEm * 62. If A is 40 meter South-West of B, C
| B Gl %f 40 “ﬁ?{' "Eﬁ’l"l-tﬁ g8, 1s 40 meter South-East of B, then C
WC, A Qg Rar & & ? 1s in which direction of A ?
(1] @ 38T | [1] East

[2] West
[3] North-East
[4] South

63. 'The average marks obtained by 150
candidates was 35. If the average

g marks of passed candidates was 39
~ and that of the failed candidate was
15, find the number of candidates

B e
v L e B a 1 = o . .
Nl Yot =Tl alal= = 1 5 sBEak*} ;
II||I A i |i IE' |I|-:I 'r ,I a bA L_'-.:L;’.":'I. "|!-"=; il U i ﬂ ge g "q;,.-.-_ iﬁ' @ |:' :; 1‘ : d |:_ P '-..! '! ! ‘-i.
: | LS bt e S & o e Rer R -
) 3 E
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64, AR o* =b b’ =c A ¢ =a,
xyziﬁrqﬁwa"ﬂ?
[1] abc

2] 1

R

abc

e
[4]‘ab
65. I8 BIY ¥ B b g d@Eem §d

Fifore i 4, 5, 6, 15 T 18 & i
faefora @t

[1] 800
t [2] 225
[3] 900
4361

If a‘r:babyzc and C‘:a,' lheﬂ '.
what is the value of xyz ?

[1] abc
[2] 1
3] —
abc
(4] ab
65. Find the smallest perfect square

number which is exactly divisible by

4,5.6,15 and 18 :
[1] 800
[2]=225
[3] 900
[4] 361

iﬁ_ Whgt 1S "‘fﬁ'he value of

AN T S O
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68. A 25 M Fodt www @ 60 R
¥ HC TR ¥ A 10 ol od B
F e RSt & Hre g3 ?

[ 125 f&S
150 R

ri., I'.... ; . ) - . . |
89 W x+—=5 A A+
| Y )
'
<2

e o pays', '645' means 'Study and work',

[D]
67Z. A sum of money doubles itself in 15 ’
years at compound interest. In how i
many years it will become & times at
the same compound interest rate .
[1] 30 years
!

[2] 40 years
3] 60 years

[4] 45 years

If 25 men can reap a crop in 60 days,
~ then in how many days will 10 men
reap the crop ?

[1].125 days
[2] 92 days
[3] 100 days

(4] 150 days

69. If x+l= 5. then what 1s the value
X
3 1
Gf X +""'3'— ‘?
x.
S 125 (2] 110
% ¥ 3 215 (4] 105
20. Ina certain code '786' means 'Study
~ very hard', '958' means 'Hard work

-
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[D] [18]

1. J8+2J8+2\/8+ ........ d HH FId 71. Find the value of :

(1] 8 2] 10
(3] 11 [4] 4

72. If each side of the square pe

2 | [
STa, ar 39 A% G S| i’% increased by 50%, then find the

percentage increase in the area :
(1] 50%
[2] 100%

131 125%

[4] 150%
[4] 150%

13. AR -H o x, + ;W o .o aef + | : |
XWW—%;&IS—-S&S-X-20+16 - : s ,
H AT 4T B ? o |
[1] 70 457 T RGNS [1] 70
P2 Hesste, pot S £[2]-78
3] 75 R e
[4] 73 A

- L - - .
' | _ - -] i |
T y i 5 N i y
'.'; B '. \ - : . S ., = _ : - . -‘.’ . ‘. - * i o, I‘
1] 1' g ] i H B X 1"_' P __"' o T SR B 2l by H
L f iy : ¥ TR . ¥, W b g k I ";-' H 1] - T i " o b . o e 1 i ! L i 5
F > o % 1 o et e i o .u"-..;. i) et . £ g ] . '- : A fl,l'l,[.._ L R = YA ] l' B
i ’ E3 ki ; = i : 1 . ' i) e - | . i . o B 7 B ¥
i "':"* ' ﬂ::‘ l-l B ; ¥ ) . re N : '..u ..-,!. Ly : . *1\ - .:II F :— (1 - i1 . ] s 5 I_.. I.. .
r- ot ] . . 1 .y e ol e e . {r-. oo g S| - o J v . [ 1
i . ! - i p LN =315 e & o= 1 LA T : " i e ot
3 P i . - A) n R H R ':""ll.._ IB 2 Al T D A pmme ; 5 E
i . 3 . y Bl e, N 5 w01 INIL £, L ' ol i z F i B 5 W I
ol W e : . B B i —ih 2 S 2 . LI ML b " nsS /72 IMM)Y T :
} s bt Y L . oSG P AW 7T LUV A D
‘11 0 == . v 4 & O ) -
£ BN ! - Herdd : \ L

» .
Rl o - -
. - W, o T .
3 . ,"'-"'" s II-. -
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| [19] A
_ , o b, | fc?llowing series 7

8 13,21, 32,47,63,83

(1] 13
— he
50 _-;--.~ LS (3] 47
b b [4] 63

IB A solid cube 1s coloured red on all
faces. It is cut into 64 smaller cubes

of equal size. How many small cubes
have no face coloured ?

S (1] 24 [2] 16
i3 g o [4] 4

11, Fmd the next term in .the following
" number series :

BB 77 238, ...

[1] gor. [2] 722

723 (4] 733

-----
......
Lo e T

11111
- i
g P, o

Scanned by TapScanner



[D]

79. o 3 WX wE Aw RY o1 @ ¢
L I A A9 R P @ o SRR
O TR o R, 36 AW @ e

| 92«

. [4-sTUA

[20]

— T

: ups of letters are gjy. |
Four group glven |

19.
below, three of them are alike j, |

certain way while one is differey

choose the odd onc
1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

80. FEarth is related to Axis in the same

way as wheel is related to :
[1] Tyre ¥2] Car

(3] Road (4] Hub

81. The smallest (in term of area) wild

life sanctuary is :
1] Bhindawas
[2] Nahar

[3] Saraswati
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~ reserved for women in Panchayati

(D]

83. The de jure head of the State
Administration in Haryana is :

4]

2

o

[l

Chief Minister of the State
Divisional Commissioner
Advocate General of the State

Governor of the State

84. The award, which is given to a sport
coach for excellence in coaching by

the Haryana State :

[1] Dronaé_harya award

2] Guru Vashistha award
[3] Maharana Pratap award
[4] Arjuna award

85. The position of Haryana in India in

respect of area 1s :
Fl) | . [1] 11th
i - | [2] 21st
| b ia] 15th
[4] 18th

|  86. Percentage of posts which have been
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[D] [22]
' 87. aIE -ﬁ"iGIT, & gel aw sREem A g87. The district, where first timg A
é-ﬂﬁﬂ:[ SLb| BRI . Haryana F--challan has httr;
introduced :
[1] NI [2] qaw 1] Gurugram 2] Panchkula
3] fear 4] e 3] Hisar [4] Rohtak
,‘ .
88. ‘dh;? RS i’ i fopar o 88. 'Global City Project’ 1s being
& . developed by
[1] W&o THo g0 Mo o Hio, (1] HSIIDC, Govt. of Haryana
BREAT TR gy
\ 2
s [2] Sfte w0 _Effo To, &fRgrom SECIE 2] GMDA, Govt. of Haryana
E S 2] ry
B 31 Tgo F |
[:qm. go Slo To, efEmm Tya [3] HUDA, Govt. of Haryana
[4] &8 e dareg e
] ERT ’ W_ NGRS [4] Ministry of Urban Development.
| Govt. of India
- @@Tﬂﬂ? qrT ST @ 89. The district, where Dolomite is found :
[1] Mahendragarh
[2] Gurugram
[3] Faridabad
12 [4] Panipat

_"‘;ﬂf; g X data of all the families of Haryana is
T - being created ?

90. Under which scheme of Haryana
Government  the

SOCI0-economic
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